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�Dо5ле<O 6 по6еде=88 дете9

• �епоEлуH4=8е
• �е74т8687<
• О58дO
• �7DеEE8O
• �еупD46лOе<ое 
D8Eко64==ое 
длO Dе5U=к4 8 окDу64NI8E по6еде=8е. 



Чу6Eт64 Dод8теле9
•  47дD46е=8е
• Г=е6 
• О58д4 
• '=O=8е 
• �еEпо<оI=оEтP 
•  4EтеDO==оEтP 8 т.д. 

Жел4=8е 6оEкл8к=утP: «К4к по<оGP Dод8телN? 
Что 6е дел4тP? К4к оEт4=о68тP Dе5U=к4?» 



ЦелP <4EтеD-кл4EE4

о5еEпеGе=8е уEло689 длO уEт4=о6ле=8O 8 
D4768т8O от=оHе=89 п4Dт=UDEт64 8 
EотDуд=8GеEт64 Dод8телO E Dе5U=ко<.
&о еEтP, о7=4ко<8тP Dод8теле9 E 
QDDект86=O<8 пD8U<4<8 6748<оде9Eт68O 
E 8E детP<8.



Ке9E № 1 
КоEтO пOт8кл4EE=8к, <о6ет уG8тPEO =4 4 8 5. 
ВоEп8тO64етEO 6 пол=о9 <=о7одет=о9 Eе<Pе, 7де 
о= од8= 87 Eт4DH8E. Се<е9=O9 Eт8лP 6оEп8т4=8O 
– 46тоD8т4D=O9. 
ОGе=P лN58т 87D4тP 6 ко<пPNтеD=Oе 87DO, =о 
е<у D47DеH4Nт толPко 2 G4E4 6 де=P. 
М4лPG8к оGе=P о58дG86 8 6EпOлPG86 (6о 6Dе<O 
о58дO о= Dе7ко 74<Oк4етEO 6 Eе5е, пDоEто 
6п4д4ет 6 EтупоD, <о6ет пDоO6лOтP D878GеEкуN 
47DеEE8N). 
�4д4G4: к4к E<O7G8тP д4==ое Q<оF8о=4лP=ое 
EоEтоO=8е КоEт8, 8 пDедупDед8тP т4кое 
по6еде=8е.



Ке9E № 2 
ВеD4 уG8тEO 6 6 кл4EEе. 
В Hколе о=4 уG8тEO удо6лет6оD8телP=о, <о6ет 
пDоO6лOтP =е74т8687<, =епоEлуH4=8е. 
ПDедпоG8т4ет дDу68тP E 5олее Eт4DH8<8 
подDоEтк4<8. 
В Eе<Pе о=4 ед8=Eт6е==O9 Dе5U=ок, лN58т п4пу, 
=о о= G4Eто 5O64ет 6 отNе7де. А <4<4 =е 
6оEпD8=8<4етEO еN 6EеDPU7, то еEтP Eт8лP 
6оEп8т4=8O Eо EтоDо=O <4<O – л85еD4лP=о-
попуEт8телPEк89. 
�4д4G4: к4к по<оGP <4<е 6OEтDо8тP 
5л47опD8Oт=Oе от=оHе=8O E доGеDPN. 





H47 1       'Eпоко8тP Dе5U=к4

1. ДOE4телP=Oе упD46=е=8O.
2. �7DуHк8-4=т8EтDеEEO.

3. �у7OкотеD4п8O.
4. �еEкотеD4п8O.



H47 2   !=OтP Q<оF8о=4лP=O9 54DPеD
Я лN5лN, ко7д4 тO &.

 �о 6OEод=O< до<4;
 ' те5O 6 ко<=4те G8Eто;
 'лO54еHPEO;
 ГулOеHP Eо E<=о9;

 �о<о74еHP <=е
 � т.д.



H47 3  �4G4тP о5Iе=8е
 !O=оGек,  =46ед8 поDOдок у Eе5O =4 полке;
 �4H4, =49д8 6Dе<O, пD85еD8 у Eе5O =4 
полке;

 � т.д.



H47 4  'Eт4=о68тP тUплOе от=оHе=8O

МЕМ - эB> эм>ции, 
?5@54ава5мы5 ?> A5Bи

















шаг 3шаг 4
шаг 2шаг 1



�D8U<O 6748<оде9Eт68O 
Dод8теле9 E детP<8





 еDлекE8O
<=е 5Oло =е8=теDеE=о, O 8 т4к 6EU 7=4N 

пD8U<O 8=теDеE=Oе, поду<4N, 
7де 8E      <о6=о пD8<е=8тP

у7=4л4 <=о7о поле7=о7о, 
5уду пD8<е=OтP 6 E6ое9 D45оте


